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SMs SECOND MID TERM TEST - 2024

7 -Std - ~ MATHS , |
i 3 dls ‘ M o
:rme : 1.30 Hrs : H }/,{ij ) arks : 30
——E Choose the correct answer. 5X1=5
1.~ A cricket pitch is about 264 cm wide. It is eqUaj‘ to 4o bone i) metre
i) 26.4 m 64 i) 0.264 " iv) 0.0264
2, 37.704113%% ‘ M
oA i) < iiy> . - iv) #
3. Inthe formula C = 2nr 'r’ refers to '
' i) cirumference ii)area - Iii) rotation: y'}ra‘dius '
4. The exponential form of 72 is . '

i) 72 ity 27 i) 22x 32 jwR3x 32
5.  How many zeros are-there.in 10010 2 . : '

|)2 i) 3' £ | m) 10 » )vr/zzo

II Fillinthe blanks. - TR ., S ' 4x1=4
The simplest form of 0.35 IS,: Fiveraghi N ) !
T Area of a circle is ............. sq unlts R
1 metre = v.ocvue.n. cm. N
9‘—\ The power rule of exponents (am)n = v =
1II Saytrueorfalse., N T vy Y 4x1=4
10._The area of a circular path is (R2 - r2) sq unlts | o '
11/ The circumference of a circle’ 2nr unlts —
/The product rule 2™ x an'= am+n - 1
13. The degree of the expressmn -4x2yz is -4 _
IV Answer any three questlons Y ' 3x2=6
9
1—47, Write the fraction 1000 as decimals. )
15 ) The height of a person is 165cm Expressthe helght in metric.
16., The diameter of a circular well is 4}2m. What is Its circumference.
1]4? Find the value of (-4)3. = , - S
V\ ' Ariswer any two questions. ' @ 2x3=6

; 18 ,,Arrange the following in ascendlno order. 123 45 123 54 1\25 43 125 34 125 3

2 3 7
19/ erte the folIownng a decimal number 20 + ik — + =

\ 10 100 * 1000
26’3) Slmpllfy 33 x- 32 X 34,5 \miy g0

"VI Answer any one of the questlons. , (A o '1\\‘x 25 5
21 /Construct an equilateral triangle XYZ of side 7.5cm, (OR)

Construct a trlangle ABC with BC 8 cm, AC =6 cm and |IC = 409,
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